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oG — 1
UNIT -1
Hifley — o
Section A

eltleuTm elamalB@ 150 OFTBHEHSHE ST allenl UleroHEe]n
Answer not exceeding 150 words each.

eelCleT(m alamelBE LSS LoFHI6LI6HTS6I
Each question carries ten marks.

CaT@asBULLBeiTen g elamabseiey eemaCuanid @I alameseEnd@ LU (B
allenLwerl& e Lb.
Answer any six questions out of seven questions.

6 x 10 = 60

What were the changes made in the provincial administration after 1858?
prhalwl (Lomsment) HifeuTtdshdHeo 1858&H@ e gbuLl L wrmBphibenen aleur.

There was a disintegration of Rural Economy due to the impact of British
Rule in India - Analyse.

@phHwraled UM gad o Fuler alenemeursds &SFTolLB CUTHEMTHTID FTOHSHHI
— SHpeimule] GFul.

Assess the contributions of Ishwar Chandra Vidyasagar to the making of
Modern India.

paiel @bhFHUWTena © (HeUThGHH FeaUTFHEHT aldburgraller LmisermiTeneo
LHUIBHS.
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10.

11.

Write a detailed essay about the “life and achievements of B.R. Ambedkar”.
.oyt oubCusbaTier eumDbend LOBMID FTHMDIHT UBY @  allenssLomer
&L (e 61(LDSIS.

Estimate Kamaraj's education reform.
smogTegfler sevalll Uemilenw WHIIGS.

Analyse the services of the Centre for Cultural Resources and Training
(CCRT).

&EUTEFSTT euenD WBDID LWIBE mwwsHFHar CFameusemen LGLLTUIR CFuis.

Point out the ideologies of Self Respect Movement.
gswoflwmensd Quisssder CaTiurhosamen &Llgd ST (Hs.

Wfley — &
Section - B

euQeut(p alamalB@d 250 CFNBSEHHE WaToed el wiefsseab
Answer not exceeding 250 words each.

@6aleut(p alamalBG LSHMabs LOFHIGILIeSH6T
Each question carries Fifteen marks.

CxETGHEULLBeiTen  Pp  elemssefisd saalCLEd |bFH ASMTHHEDHS
oL (BLb | @llenLwierlsaeayLb.
Answer any Five questions out of six questions.

5x15=75

Elaborate the services of the Justice Party for the upliftment of the society.
gepd  (PaCarBpeHABEG BbHdHHL & appsul Caameusmen alfleuns 61(1DSHIS.

Describe the factors favouring the growth of Indian Nationalism.
OphaHwu Chrdlw o _wiTe] eaueTFS DML HHHBHTET HTTeRImIBN6T oo

Analyse the differences between Moderates and Extremists of the Indian
National Congress.

Bpwu  Cxrdws  smRHTHD  OHUTHBEHSGHD,  HATeUTHSHEHEE (P66
Coupium’ enL  LGLIUTUIS

How far the International influences helped for the growth of Extremist
nationalism in India?

Olwed  HIhseller HTHEMS6T ealeuTy GhHw  &HHHT  CurymlL Sgler
Sl sendE 2 sHalwg?




12.  Assess the working of Dyarchy in the provinces according to the Act of
1919.
1919 b SWiGF FLLGHHeUY LIHVHSHe @rledl Sl dl  penpulles
GaFwedum 19emen LOHIITBS

13.  Write a note on Palayakarar Revolt
UTenemwsbaTIT LIldl @plda @iy euemnys
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ovg — 11
UNIT - 11
Uifley — o
Section A

@6lCeur elemalB@b 150 CFMBHEHSHE WETos0 allenL wiefossab
Answer not exceeding 150 words each.

alleuT® elamalB@ LSS LOHIICLIEHTS6
Each question carries ten marks.

QamBaasLILLBeiTen (BTG elamoseied emeauBLId ey  alammsseEnsE
LB elanuieissaLb.
Answer any three questions out of four questions.

3 x10=30

14. Answer thefollowing

a.

Arun lent X 5,000 to Balaji for 2 years and X 3,000 to Charles for 4 years on
simple interest at the same rate of interest and received X 2,200 in all from both
of them as interest. Find the rate of interest per year.(5m)

SIHEWT  6TILIIT  UTeOTeY  6laiiUa(HBE 655,000 & 2 Hewi(BHEHHGID  FTiT606rD
aeile(hBE H.3,000 & 4 amihBEpEGHD @61 Sl ly aiHHH6e0 aUPHISEITT.
OB QTHSHWOTE 052,200 & el QuiTtes DIH CuBBIT 6aled, el aIHHmHsH
BIT6W01SH

The annual rate of growth in population of a certain city is 8%. If its present
population is 196830, what it was 3 years ago? (5m)

QMM BBITHHST  IDSBTOHTBUIET  SLewi®  auenJFF  aiHld 8% USHID.  DIH6T
sBluTemsW  EH6T  OFTensd 196830  eiedlled, 3 UWIBBEHHG (P
D& SH6ITOSHTMNHMU BT !

15. A Hospital records indicated that maternity patients stayed in the hospital for the
number of days as shown in the following.

3




16.

17.

No. of days stayed 3 4 5 6 More than 6

No. of patients 15 32 56 19 5

If a patient was selected at random find the probability that the patient stayed
(i) exactly 5 days (ii) less than 6 days
(iii) at most 4 days (iv) at least 5 days

QH W(HHHaIwemer LUHGCaIL 1960 HICUBNIBETE WwHellT HRESUNHHS BT H6eMer alleuyld
&SCIp OBTHHBLILL (H6iT6NgI

BBl B S 3 4 5 6 6 BT Genel
BT aeifear ol &F®ld
6T6UOT6U0T) &b 6N &b

LDEH6MIT  6T6m0T6001 bem B 15 32 56 19 5

aauBrenid @Heuemy Foeumulli] (Wwemuied CHTHOHBHGID GuUTH SieuT

1L gflwms 5 BIL &6
. oIF®d ulgd 4 BT S6

1. 6 BT HEHHGID GHEOBEUTSH
1V. (@SOBHSULFID 5 [BAL ST

SRBUNHEBD B HDHH6 6160160’

Arul hasgto make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by'a cone. Each person occupies 4 sq. m of the space on
ground and 40 cu.‘meter of air to breathe. What should be the height of the conical
part of the'tent if the height of cylindrical part is 8 m?

DHET Haigl (GHGLL alpTalBg 150 pUTHT SHRGUSBEG @ SnLTJD  DENLOHHIMBITT.
SHLMISHIHT DUILGSH 2 (Hewel augalad CoBuEGd &bl augalelld o 6Tengl. e(hHeuT

SRGUSBG 4 F.15 OliuEgdh uiyb 40 &5 &MBoIb CHrmeauliBHBSH. Sl T]&HH 60
o (Hewermuller @ wiFib 8 16 eTefled, FwnIDLIG 2 _UITID HT6wIb.

Answer the following

a. One of the angles of a triangle is 65°. If the difference of the other two angles is
45°, then find the two angles. (5m)
(w&CamemdhFler @ Gamewid 65°. wBB Bk Carewmiseallea albdwngd 45° eeied
Sleual(h CHTenmisemen SHTewIs5

b. The sum of the square of the two consecutive natural number is 421. Find the
number. (5m)
@reni® OHTLIFHwmenr @uled eTenidbella aIThemIGIaT gnl BHOHTHS 421
SIbSH 6CICMIHEN6IT  HIT6IIH

6160160




Uifley — <4
Section B

SWILIL:

1. @6lCeurm eleamalB@h 250 CFTBHEHSHE WETos0 allenL wielossab
Answer not exceeding 250 words each.

ii. gealeaurm elemalB@ LSmTbSH L LICLIEHISENT
Each question carries Fifteen marks.

1. Oasr@HELIUL[Beiten cpaipl alamassefled samaiBGuead BN alSMBHEHHG
L@ alenLwefldsaLb.
Answer any two questions out of three questions.

2 x15=30
18. Find the HCF and LCM of i, E, 18 and el
10" 25_.35 40
i, E, P T ayflweuBpler W.our.er (HCF) wspn 15.0urw (LCM)
100 25" 35 40
BHITE001b.

19. Following are the runs scored by two batsmen in 5 cricket matches. Who is
more consistent iniscoring runs

Batsman A 38 47 34 18 33
Batsman B 37 35 41 27 35

5 &fésosl  alewemwum Gl Gumliyseisd @Jewih WLl  aifisel  hHSD
@ULmseT (runs) Uereumorm. SieTseied @ULRBISET 6BLUSHD wWiT DiFHS
FTemingd SHeTenD 2 el UIeUT?

Ll emLaiyT A 38 47 34 18 33
Lol eyt B 37 35 41 27 35

20. If12 men and 16 boys can do piece of work in 5 days and if 13 men and 24 boys

can do it in 4 days, how long will 7 men and 10 boys take to do it ? (15 m)

@ GCouemevenws 12 SiewidEnld 16 FmeuTseEpd 5 HILS6led Gguiul apuyb. 13
DEWHEHD 24 FpeuTeEnd 4 BTLH6MN0 DenHF OCFuw  wpujb eeled, 7
E,6ITH(ETHLD 10 FmIeUTHEMHLD 618 FHEM60T BT 61160 91611GaImeveMULI
QFUILI(LPIQLILITITERGIT.
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UNIT - I11
difley — &
Section A

allleur elamalBal 150 CFTBHEHSHE WSTOE allenL e oae D

Answer not exceeding 150 words each.

alCleur alamalB@ LSS LOHICILICITHE
Each question carries ten marks.

Qar@HaUU_Beiten g ealameseisd maCugid B alamsaeEndE LB

allenLwerfld s 6Lb.
Answer any six questions out of seven questions.

21. Explain Holograms.
wlufoTen UgLORIG6T LB alenéE .

22.  Detergents aresuperior to soaps in their cleaning action - Explain.
G&HHD CFUWD. Hpelled CFLBMS  DIDESG . bIIFHeT Carlydbsemen el
Fvbhsa - afleudl.

23.  Write a note on.DNA fingerprinting.
‘DNA-ailer Grema LHey’ wedm uBp @GpIly e11pHeLb.

24. Discuss the commercial applications of Galvanic cells.
HTevaUTeld LOGIHVHHIT aleld FHWTET LIUIGTLITL 19enet il

25.  What do you know about “Human Shock Absorben”? Explain.
“alas PHTFS 2 L saiaurar ubys BalT omleug wrg? alend@s.

26. What is virtual reality? What are its applications?
Virtual reality e1eiBT60 6l6iien? SiFHein LILIGTLT(HES6T WiTeneu?

27.  In physics, compare scalar and vector quantities.
Bupliwed slemaseilled erBH6LT LOBWILD OeudL T-gLUIIBS.

6 x10 =60
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Section B

SWILIL:

28.

29.

30.

31.

@6lCeurm eleamalB@h 250 CFTBHEHSHE WETos0 allenL wielossab
Answer not exceeding 250 words each.

@alleuTm elamalB@ LUHManhEl LSHIICILIEHTSEN
Each question carries fifteen marks.

CaT@asILLBeiTenm BTG alamsbseied eTamauBuaid cpeiy al@MEsEHES
L@ alenLwefldsaLb.
Answer any three questions out of four questions.

3x15=45

Write on the role of CSIR in the.improvement of science in India. Highlight
any 3-research institutions with their contributions.

@hdHwrealsd  spfialweder  (pai@ampsdlen. CSIR-ar umig@mer Hme.  DigHer
JCapamIld cpeiim SLITUWIFS BnieuaThIS66 Lklend TBSHHIHHTL (Hb.

List the application of artificial satellite. List down its merits and demerits.
oifalwed  OHTHed  HILL HdBulled CFLBMS  FHienewiCoTeTdeller LIS
uUBBIWD DieuBpleil Blews Genpder upBlun alfleurs 61(1pHIS.

What are the steps taken by Tamil Nadu Government to propagate
Information Technology Education?

HBaleL OFHmMOOEI LI Hevalemwl LTLSBETE SO s  ComOlsmest
BLOUQSHENBHH6IT WITen6l?

Give an account of different types of fertilizer.
CouaiGouml euemSWITET 2 JhmiGenen LM 61(DHIS.
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